## REFINED ARITHMETIC-GEOMETRIC MEAN INEQUALITY AND NEW ENTROPY UPPER BOUND

VANDANJAV ADIYASUREN, TSERENDORJ BATBOLD, AND MUHAMMAD ADIL KHAN

ABSTRACT. In this paper, we establish a new refinement of the arithmetic-geometric mean inequality. Applying this result in information theory, we obtain a more precise upper bound for Shannon's entropy.

## 1. Introduction

For  $n \geq 2$ , let  $p_1, \ldots, p_n$  be nonnegative real numbers with  $\sum_{i=1}^n p_i = 1$ . We denote by  $A_n$  and  $G_n$  the weighted arithmetic and geometric means of the positive real numbers  $x_1, \ldots, x_n$ , that is,

$$A_n = \sum_{i=1}^n p_i x_i \quad \text{and} \quad G_n = \prod_{i=1}^n x_i^{p_i}.$$

It is well-known that

$$A_n \geq G_n$$

is called the arithmetic-geometric mean inequality.

The arithmetic-geometric mean inequality has found much interest among many mathematicians, and there are numerous new extensions, refinements, and applications of it. In 2003, Mercer [3] proved the following interesting refinement of arithmetic-geometric mean inequality,

(1) 
$$c := \frac{1}{A_n} \sum_{i=1}^n \frac{p_i(x_i - A_n)^2}{x_i + \max(x_i, A_n)} \le \log(A_n) - \log(G_n),$$

with equality occurring if and only if all  $x_i$  are equal.

Received May 1, 2015.

 $<sup>2010\</sup> Mathematics\ Subject\ Classification.\ Primary\ 26D15,\ 94A17.$ 

 $Key\ words\ and\ phrases.$  arithmetic-geometric mean inequality, entropy, Jensen's inequality.

This work has been done within the framework of the project "Mathematical analysis methods in Information theory and Coding theory" supported by the Asia Research Center, Mongolia and Korea Foundation for Advanced Studies, Korea.

As is well known, some classic inequality such as AM-GM inequality [4], Jensen's inequality [6], Hölder inequality [8] play an important role in information sciences. Moreover, the Jensen's inequality is also an important cornerstone in information theory.

In 2009, Simic [6] obtained the following bound for the entropy  $(H(X) := \sum_{i=1}^{n} p_i \log \frac{1}{p_i})$  by using refinement of Jensen's inequality,

$$0 \le \mu \log \left(\frac{2\mu}{\mu + \nu}\right) + \nu \log \left(\frac{2\nu}{\mu + \nu}\right) \le \log n - H(X),$$

where the probability distribution F is given by  $P(X = i) = p_i$ ,  $p_i > 0$ ,  $1 \le i \le n$ , with  $\sum_{i=1}^{n} p_i = 1$  and where  $\mu = \min_{1 \le i \le n}(p_i)$  and  $\nu = \max_{1 \le i \le n}(p_i)$ .

In 2012, Ţăpuş and Popescu [7] proved the following refinement of the Simic's result by using another refinement of Jensen's inequality,
(2)

$$H(X) \le \log n - \max_{1 \le \mu_1 < \mu_2 < \dots < \mu_{n-1} \le n} \log \left[ \left( \frac{n-1}{\sum_{k=1}^{n-1} p_{\mu_k}} \right)^{\sum_{k=1}^{n-1} p_{\mu_k}} \prod_{k=1}^{n-1} p_{\mu_k}^{p_{\mu_k}} \right].$$

For some related results, the reader is referred to papers [1, 2, 5] and references therein.

Recently, Parkash and Kakkar [4] obtained some inequalities, based on the arithmetic-geometric-harmonic mean inequality. They applied these inequalities to the entropy. Also the above bounds of the entropy become the particular cases of this result.

In this paper, we establish a new refinement of the inequality (1). Applying this result in information theory, we obtain a more precise upper bound for Shannon's entropy. In particular, our result refines the above bounds of the entropy.

## 2. Main results

In order to prove our main results, we need the following two lemmas.

**Lemma 2.1.** Let  $f_a(x) := \frac{(x-a)^2}{a(x+\max\{x,a\})} + \log x$ , a > 0. Then  $f_a$  is a concave function on  $(0, +\infty)$ .

*Proof.* In the case of  $x \ge a$ ,  $f_a(x) = \frac{(x-a)^2}{2ax} + \log x$ . Direct computing yields  $f_a''(x) = \frac{a-x}{x^3} \le 0$ .

In the case of 0 < x < a,  $f_a(x) = \frac{(x-a)^2}{a(x+a)} + \log x$ . Simple computations lead to

$$f_a''(x) = \frac{5ax^2 - x^3 - a^3 - 3a^2x}{x^2(x+a)^3} = \frac{(x-a)(a^2 + 4ax - x^2)}{x^2(x+a)^3} < 0.$$

Summing up, the function  $f_a(x)$  is concave for x > 0. The proof is complete.

**Lemma 2.2.** Let  $f_a$  be as defined in Lemma 2.1 and let  $k \in \{2, ..., n-1\}$  and

$$s_k := \max_{1 \leq \mu_1 < \mu_2 < \dots < \mu_k \leq n} \left[ \left( \sum_{i=1}^k p_{\mu_i} \right) f_{A_n} \left( \frac{\sum_{i=1}^k p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^k p_{\mu_i}} \right) - \sum_{i=1}^k p_{\mu_i} f_{A_n}(x_{\mu_i}) \right].$$

Then we have

$$0 \le s_2 \le s_3 \le \dots \le s_{n-1}.$$

*Proof.* It is clear that  $s_2 \geq 0$ . Now we will show that for any  $k \in \{2, \ldots, n-2\}$ ,  $s_k \leq s_{k+1}$ . Let us consider that the maximum of the expression

$$\left(\sum_{i=1}^{k} p_{\mu_i}\right) f_{A_n} \left(\frac{\sum_{i=1}^{k} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{k} p_{\mu_i}}\right) - \sum_{i=1}^{k} p_{\mu_i} f_{A_n}(x_{\mu_i})$$

is obtained for  $\mu_i = \nu_i$ ,  $\nu_i \in \{1, ..., n\}$ ,  $i = \{1, ..., k\}$ . Then it is enough to prove that

$$\left(\sum_{i=1}^{k} p_{\nu_{i}}\right) f_{A_{n}} \left(\frac{\sum_{i=1}^{k} p_{\nu_{i}} x_{\nu_{i}}}{\sum_{i=1}^{k} p_{\nu_{i}}}\right) - \sum_{i=1}^{k} p_{\nu_{i}} f_{A_{n}}(x_{\nu_{i}})$$

$$\leq \left(\sum_{i=1}^{k+1} p_{\nu_{i}}\right) f_{A_{n}} \left(\frac{\sum_{i=1}^{k+1} p_{\nu_{i}} x_{\nu_{i}}}{\sum_{i=1}^{k+1} p_{\nu_{i}}}\right) - \sum_{i=1}^{k+1} p_{\nu_{i}} f_{A_{n}}(x_{\nu_{i}})$$

for any  $\nu_{k+1} \in \{1, \dots, n\} \setminus \{\nu_1, \dots, \nu_k\}$ . The above inequality is equivalent to

$$p_{\nu_{k+1}} f_{A_n}(x_{\nu_{k+1}}) + \left(\sum_{i=1}^k p_{\nu_i}\right) f_{A_n} \left(\frac{\sum_{i=1}^k p_{\nu_i} x_{\nu_i}}{\sum_{i=1}^k p_{\nu_i}}\right) \\ \leq \left(\sum_{i=1}^{k+1} p_{\nu_i}\right) f_{A_n} \left(\frac{\sum_{i=1}^{k+1} p_{\nu_i} x_{\nu_i}}{\sum_{i=1}^{k+1} p_{\nu_i}}\right).$$

Multiplying by  $\left(\sum_{i=1}^{k+1} p_{\nu_i}\right)^{-1}$ , we obtain the inequality

$$\frac{p_{\nu_{k+1}}}{\sum_{i=1}^{k+1} p_{\nu_i}} f_{A_n}(x_{\nu_{k+1}}) + \frac{\sum_{i=1}^{k} p_{\nu_i}}{\sum_{i=1}^{k+1} p_{\nu_i}} f_{A_n} \left( \frac{\sum_{i=1}^{k} p_{\nu_i} x_{\nu_i}}{\sum_{i=1}^{k} p_{\nu_i}} \right) \\
\leq f_{A_n} \left( \frac{\sum_{i=1}^{k+1} p_{\nu_i} x_{\nu_i}}{\sum_{i=1}^{k+1} p_{\nu_i}} \right),$$

which follows from Jensen's inequality for the concave function  $f_{A_n}(x)$ . The lemma is proved.

**Theorem 2.3.** Let  $c, A_n, G_n$  be as defined the above, the following estimates hold

(3) 
$$c \le c + s_2 \le c + s_3 \le \dots \le c + s_{n-1} \le \log(A_n) - \log(G_n),$$

with equality occurring if and only if all  $x_i$ 's are equal.

*Proof.* By Lemma 2.2, we have

$$c \le c + s_2 \le c + s_3 \le \dots \le c + s_{n-1}.$$

We proceed now to prove the last inequality of (3). Choose arbitrary  $x_{\mu_i} \in \{x_1, \ldots, x_n\}$ ,  $1 \leq \mu_1 < \mu_2 < \cdots < \mu_{n-1} \leq n$ , with corresponding weights  $p_{\mu_i} \in \{p_1, \ldots, p_n\}$ , and let  $x_{\mu_n} = \{x_1, \ldots, x_n\} \setminus \{x_{\mu_1}, \ldots, x_{\mu_{n-1}}\}$ . By the inequality (1), we get

$$\log(A_n) = \log\left(\sum_{i=1}^n p_i x_i\right) = \log\left(p_{\mu_n} x_{\mu_n} + \left(\sum_{i=1}^{n-1} p_{\mu_i}\right) \frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}}\right)$$

$$\geq \frac{1}{A_n} \frac{p_{\mu_n} (x_{\mu_n} - A_n)^2}{x_{\mu_n} + \max(x_{\mu_n}, A_n)} + \frac{1}{A_n} \frac{\left(\sum_{i=1}^{n-1} p_{\mu_i}\right) \left(\frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}} - A_n\right)^2}{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}} + \max\left(\frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}}, A_n\right)$$

$$+ \log\left(x_{\mu_n}^{p_{\mu_n}} \left(\frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}}\right)^{\sum_{i=1}^{n-1} p_{\mu_i}}\right)$$

$$= \frac{1}{A_n} \sum_{i=1}^{n} \frac{p_i (x_i - A_n)^2}{x_i + \max(x_i, A_n)} - \frac{1}{A_n} \sum_{i=1}^{n-1} \frac{p_{\mu_i} (x_{\mu_i} - A_n)^2}{x_{\mu_i} + \max(x_{\mu_i}, A_n)}$$

$$+ \log(G_n) - \sum_{i=1}^{n-1} p_{\mu_i} \log x_{\mu_i} + \left(\sum_{i=1}^{n-1} p_{\mu_i}\right) f_{A_n} \left(\frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}}\right)$$

$$= \log(G_n) + c + \left(\sum_{i=1}^{n-1} p_{\mu_i}\right) f_{A_n} \left(\frac{\sum_{i=1}^{n-1} p_{\mu_i} x_{\mu_i}}{\sum_{i=1}^{n-1} p_{\mu_i}}\right) - \sum_{i=1}^{n-1} p_{\mu_i} f_{A_n} (x_{\mu_i}).$$

Since  $x_{\mu_i}$ ,  $i = \{1, ..., k\}$  are arbitrary, the last inequality of (3) follows. The theorem is proved.

By using Theorem 2.3, we get the following proposition.

Proposition 2.4. We have

(4)

$$H(X) \le \log n - \frac{1}{n} \sum_{k=1}^{n} \frac{(1 - np_k)^2}{1 + \max(1, np_k)} - \max_{1 \le \mu_1 < \mu_2 < \dots < \mu_{n-1} \le n} \{L(\mu) + M(\mu)\},$$

where

$$L(\mu) := \log \left[ \left( \frac{n-1}{\sum_{k=1}^{n-1} p_{\mu_k}} \right)^{\sum_{k=1}^{n-1} p_{\mu_k}} \prod_{k=1}^{n-1} p_{\mu_k}^{p_{\mu_k}} \right],$$

and

$$M(\mu) := \frac{(n-1-n\sum_{k=1}^{n-1}p_{\mu_k})^2}{n(n-1+\max(n-1,n\sum_{k=1}^{n-1}p_{\mu_k}))} - \frac{1}{n}\sum_{k=1}^{n-1}\frac{(1-np_{\mu_k})^2}{1+\max(1,np_{\mu_k})}.$$

*Proof.* Applying the last inequality of (3) with  $x_i = 1/p_i$ ,  $1 \le i \le n$ , after some calculations the desired result follows.

Remark 2.5. It is easy to see that  $g(x):=\frac{(x-a)^2}{a(x+\max\{x,a\})},\ a>0$  is convex for x>0. Hence, by Jensen's inequality,  $M(\mu)\leq 0$ .

The next proposition demonstrates that the estimation is better than (2).

**Proposition 2.6.** The estimation (4) is better than (2), i.e.,

$$\max_{1 \le \mu_1 < \mu_2 < \dots < \mu_{n-1} n} \{ L(\mu) \}$$

$$\le \frac{1}{n} \sum_{k=1}^{n} \frac{(1 - np_k)^2}{1 + \max(1, np_k)} + \max_{1 \le \mu_1 < \mu_2 < \dots < \mu_{n-1} \le n} \{ L(\mu) + M(\mu) \}.$$

*Proof.* Let us consider that the maximum of  $L(\mu)$  is obtained for  $\mu_i = \nu_i$ ,  $\nu_i \in \{1, \ldots, n\}$ ,  $i = \{1, \ldots, n-1\}$  and let  $p_{\nu_n} = \{p_1, \ldots, p_n\} \setminus \{p_{\nu_1}, \ldots, p_{\nu_{n-1}}\}$ . Then we have

$$\begin{split} &\frac{1}{n}\sum_{k=1}^{n}\frac{(1-np_{k})^{2}}{1+\max(1,np_{k})} + \max_{1\leq\mu_{1}<\mu_{2}<\dots<\mu_{n-1}\leq n}\{L(\mu)+M(\mu)\}\\ &-\max_{1\leq\mu_{1}<\mu_{2}<\dots<\mu_{n-1}\leq n}\{L(\mu)\}\\ &\geq \frac{1}{n}\sum_{k=1}^{n}\frac{(1-np_{k})^{2}}{1+\max(1,np_{k})} + M(\nu)\\ &= \frac{1}{n}\sum_{k=1}^{n}\frac{(1-np_{k})^{2}}{1+\max(1,np_{k})} + \frac{(n-1-n\sum_{k=1}^{n-1}p_{\nu_{k}})^{2}}{n(n-1+\max(n-1,n\sum_{k=1}^{n-1}p_{\nu_{k}}))}\\ &-\frac{1}{n}\sum_{k=1}^{n-1}\frac{(1-np_{\nu_{k}})^{2}}{1+\max(1,np_{\nu_{k}})}\\ &= \frac{(n-1-n\sum_{k=1}^{n-1}p_{\nu_{k}})^{2}}{n(n-1+\max(n-1,n\sum_{k=1}^{n-1}p_{\nu_{k}}))} + \frac{(1-np_{\nu_{n}})^{2}}{n(1+\max(1,np_{\nu_{n}}))} \geq 0, \end{split}$$

## References

- [1] S. S. Dragomir and C. J. Goh, A counterpart of Jensen's discrete inequality for differentiable convex mappings and applications in information theory, Math. Comput. Modelling 24 (1996), no. 2, 1–11.
- [2] \_\_\_\_\_, Some bounds on entropy measures in information theory, Appl. Math. Lett. 10 (1997), no. 3, 23–28.
- [3] P. R. Mercer, Refined arithmetic, geometric and harmonic mean inequalities, Rocky Mountain J. Math. 33 (2003), no. 4, 1459–1464.
- [4] O. Parkash and P. Kakkar, Entropy bounds using arithmetic-geometric-harmonic mean inequality, Int. J. Pure Appl. Math. 89 (2013), no. 5, 719–730.
- [5] S. Simic, Best possible global bounds for Jensen's inequality, Appl. Math. Comput. 215 (2009), no. 6, 2224–2228.

- [6] \_\_\_\_\_, Jensen's inequality and new entropy bounds, Appl. Math. Lett. 22 (2009), no. 8, 1262–1265.
- [7] N. Ţăpuş and P. G. Popescu, A new entropy upper bound, Appl. Math. Lett. 25 (2012), no. 11, 1887–1890.
- [8] J. Tian, New property of a generalized Hölder's inequality and its applications, Inform. Sci. 288 (2014), 45–54.

Vandanjav Adiyasuren

DEPARTMENT OF MATHEMATICS

NATIONAL UNIVERSITY OF MONGOLIA

P.O. Box 46A/125, Ulaanbaatar 14201, Mongolia

 $E\text{-}mail\ address{:}\ \texttt{V\_Adiyasuren@yahoo.com}$ 

TSERENDORJ BATBOLD

DEPARTMENT OF MATHEMATICS

NATIONAL UNIVERSITY OF MONGOLIA

P.O. Box 46A/104, Ulaanbaatar 14201, Mongolia

 $E ext{-}mail\ address: }$  tsbatbold@hotmail.com

MUHAMMAD ADIL KHAN
DEPARTMENT OF MATHEMATICS
UNIVERSITY OF PESHAWAR, PAKISTAN
E-mail address: adilswati@gmail.com